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A certain number of persons are sitting in a row facing north. U sits forth to
the right of T. Only two persons sit between U and Q. Q sits sixth to the left
of R. N sits eight to the left of R. T is second from one of the ends of the row.
I sits between G and R. G is not an immediate neighbour of U. Less than 12
persons are sitting in the row.

w il i o RlidTendaf SR B SIRgE@ RSP IS TIU, TH
aTs IR NY WH R 3121 U 3R Q & g pad Sl Aafrkasd &1 q, R
P IS MR TS WM W I3dTEI N, RP T8 3R 334 VI R I3dT 2|
T Ufa & fohll U6 SR A g R’IM W d3d1 g1 1, G 3R R & dHa daan
21 G, U BT fAdeard usiRit 781 81 if A 12 A pH Aafqa 93 &1

Q1. If ‘E’ sits forth from the right end, then how many persons sits between Q

and E in the row?/ﬂ'ﬁ' 'E'aﬁ@'\fﬁiﬁﬁwwaﬁ%a‘rﬁﬁqsﬁ?
EP d fpaq aafda dod 82

(a)4




(b) 2
(c)3
(d)5

(e) None of these E'-Tef 3 aﬁi T-I'Eﬂ

Q2. How many persons sit in the row? /ﬁ A faq aafad aﬁ % ?
(a) 10

(b) 9

(c) 11

(d) 8

(e) Can’t be determine ﬁufﬁ?rqﬁw IJHd

Q3. If ‘C’ sits immediate left of U then what is the position of ‘T’ with respect

to C?/ Ul c,uP P T daar g dl c & Jdy & 7 I FRAM AT B2
(a) Fifth to the left / ST | Ti=dT

(b) sixth to the right /Eﬁﬁ@‘é‘f

(c) fourth to the right /&8 | YT

(d) third to the left / §TE | IIRT
(e) NOTA

Q4
Q5.
Directions: Answer the questions based on the information given below.

Twelve persons are sitting in two parallel rows such that P, Q, R, S, Tand U
are sitting in row 1 facing north and A, B, C, D, E and F are sitting in row 2
facing south.



Q is sitting 3™ to the right of R, who is sitting opposite to D. A is sitting 2™ to
the left of F, who is sitting opposite to the person, who is sitting adjacent to

Q. One person is sitting between S and T, who is not sitting opposite to F. E,

who is not sitting opposite to U, is sitting to the left of A.

TR AR S AR U A ST Re a3 & fP P, Q R, S, T 31X U ITR BT
HTHAT H3d §U Ufad 1 H 93 8 MR A, B, €, D, E 3MiR F GI&0T T AT
PRI EUUR 2 A IS E| QRF IW A TR VAR ISR, D H
fAria 93T 2| A F & ITT A ORI W 931 8, WY 39 afad & faudia
V18, QP TAH IS 3| TP AR S IR TH AT ASTE, NF D
faudia ag 9318 €, Wt u F fAudia T8 9518, A & 91T MR AT 8|

Q6. is sitting opposite to U. / u & faudia do1 %I
A-B

B-C

C-F

D -Cannot be determined

E -None of these

Q7. What is the position of E with respect to B?. / B & '\‘Ir_c{‘l-fﬁ E PT HT
R 82

A -2" to the left

B -4t to the right
C-2" to the right
D -3 to the right

E -Cannot be determined

Q8. issitting opposite to F./ F & fAuda do1 %l



c-u
D -Cannot be determined

E -None of these

Q9.
Q1lo.

Q11. How many letter/letters will remain in the same position in the word
‘Chrome’ when they are arranged in alphabetical order from left to right?

(a) One

(b) Two

(c) Three

(d) More than Three

(e) None

Directions: Answer the questions based on the information given below.

In a family of eight members there are five female members. T is son-in-law
of L, who is married to O. O is mother of two daughters. C is brother-in-law of
P. R is the mother of K and S. C is a married couple.

TS TSl a1 URaR & uTa AT Ge=a 81 T, L &1 I-57-91 &,
SRt Al o A g 81 0, A AN B HI B 1 ¢, P BT FER-ZA-AT 21 R, K
MR s FTATAT R | c U fAarRa AsT R

Q12: How is K related to 0?/ K, O A $A Hafd %?
(a) Grandson

(b) Granddaughter

(c) Son

(d) Either(a) or(b)



(e) Cannot be determined

Q13: How is P related to K?/ P, K A FA Gdfd %?
(a) Grandmother

(b) Mother

(c) Sister

(d) Maternal Aunt

(e) None of these

Q14: How is CrelatedtoL? /C, L I Fa dfd %?
(a) Son

(b) Brother

(c) Son-in-law

(d) Brother-in-law

(e) None of these

Directions: Answer the questions based on the information given below.

Eight persons N, K, B, H, O, Z, Y and X are sitting around a square table. Four
of them sit at the corner while four of them sit at the middle of the table.
Only two persons are facing outside the center and the remaining are facing
towards the center of square table. Two persons who are facing outside the
center are sitting at the middle of the table. Z is an immediate neighbour of N
and faces Y. X sits third to the right of K and immediate left of O who sits at
the middle of the table. B is an immediate neighbour of H. O is facing outside
the center. H sits immediate left of K. N faces B.

TS AfKIN, K, B, H, 0, Z, Y 3T X Th TTPR AW & IR 3R IS &1 379
Y IR ®F R TafP TR A9 &t YTl WS 8| pad gl Af dsq
ITER B1 3R @ § 3N AT ITpR AW & $g Bl iR IqE & 1hs A
qIEX D1 3R YW Il safe A &1 Yo R A4S €1 z, N BT FAPpean



TSI 8 3R Y B 3R @ 2 Ix,K F 31 T TR WM 3R 0 F S 1w
3718, ol A% Bt Yer3ii R 93131 B,H FT NPpearu usii gl o Fx A
e DI MR YW BIS, KP SIH I ISTE I N, B BI 3R IYA &

Q15. Who among the following is sitting third to the left of Z? / Fafafea#d

AP, 2P T¢I TR I T &7 72
a)K
b) O
c)B

d)N

e) None of these / sqﬁﬁaﬁ'{qﬁ |

Q16. Who among the following is/are sitting exactly between Z and Y? /

T d I sz iR Y& Ste A d ds1/93 8/8?2
a)H

b) K

c) X

d) Both (a) and (b) / (a) 3R (b)gI=

e) Both (c) and (a) / (c) 3R (a)@}

Q17. Which of the following is odd? /ﬁ'ﬁﬁ'@ﬁﬁ'\ﬁﬂ'ﬁ?ﬁ'ﬂﬂ%’
a)K
b) z
c)H
d)B
e)yY



Q18. Which of the following statement is not true regarding 0O? / m

AA DA DY, 0 S Te¥ d T 7151 82

a) O sits opposite to K / 0, K& fAufia 9318

b) O sits third to the right of H / 0, H % T80 & 4R WM IR 93T 8

c) Three persons sit between K and O / K Gﬁ? O%W?ﬂ?t_ﬂ%aﬁ%

d) N sits second to the left of O / N, O%WQWWWW%I
e) All are true/ﬂ’l-ﬁwg

Q19. If N is related to B, O is related to K then in the same manner X is

related to _?/'!T%N, Bﬁﬁiﬁ%, O,K ﬁwﬁﬁr%,aﬁmﬂa'ﬂ%ﬁx
fraa Tefta g2

a)yY
b) H
¢) Both (a) and (d) / EIF (a) 31X (d)
d)o

e) None of these / ﬁﬁﬁaﬁgqﬁ |

Directions: Answer the questions based on the information given below.

Q20. If in ’4357824987"” we add one to all the even digits and subtract one
from all the odd digits then what is the sum of the digits which is fifth from

the left end and fourth from the right end?/ 'Clﬁ T “4357824987” 1?[31:[
gt 97 3wl H 1 Tisd 8 gt fuw s A Q1 gerda g Al T Bk @
Tiad 3R g Bk § 9 H= &1 9 fanr 82

a) 12
b) 15



c) 16
d) 17

e) None of these

Directions: Answer the questions based on the information given below.
Q21.

Statement:

No truck is bike/ P13 ¢, TSP T8l ¢
Only a few bike is car/ Wﬁm, PR %I
All car is auto/ Iyt PR, an"z’r%l

Conclusions:
All truck being auto is a possibility/ It b, 3ffal ﬁﬁﬂ”ﬁ JHTIAT %I
All bike being car is a possibility/ ot CIEL Wﬁﬁaﬁw&m%l

Q22.

Statements:

Some books are copies/ gﬁ;ﬁﬁlﬁ, ﬁ'ﬂ%l
Only few pens are pencils/ Wwih, ﬂ'ﬁlﬁ%l
All pencils are copies/ FH} o, ﬁ'ﬂ%

Conclusions:

All copies can be pen/ {4} H T}, FeH 81 THdl 8
All pens being books is a possibility/ I v, ﬁﬁﬂ%ﬁﬁﬂﬂ'\q‘lm%l

Q23.

Statements:

Some apples are mangoes/ W@H 3ATH %I

Some oranges are mangoes/ gﬁ;ﬂ?ﬁ) \'ﬂmﬁﬁél

No orange is apple/ aﬁ%ﬂﬁﬂ, @Hﬂﬁ%l

Conclusions:

Only a few mangoes are apples/ WW 3{TH, @Ts[%l

All mangoes being oranges is a possibility/ I ey, Iav gﬁaﬁqmm

g



Q24.

Statements:

Only a few cars are buses /WW'&DTTH%QT, aﬁ%l
No buses is trains / aﬁ'é' ﬂ-ﬁ@, aﬁqﬁal
Only a few trains are superfast / ng}aﬁm%l

Conclusions/ frrepd:

Some superfast cars/ WWW&
No car is superfast / aﬁéw, Wqﬁal

Q25.

Statements:

Only a few house are building/ Wﬁﬁ‘ﬂ'\’, W%I
Only a few building are office /Wwﬁ HdH, W%I
Only a few office are Rome / WW?’[W, ﬁﬁ%l

Conclusions/ fIshd:
Some Rome are house is a possibility/ Wﬁ'ﬂ, mzﬁaﬁmm%l
All home are building/ It U, ‘l-laq'%l

Direction (26-30): Study the following information carefully and answer the
guestions given below-

Eight persons P, Q,R, S, T, U, V, W go for a Movie in different months of a
year viz . March, April, May, June, July, August, September, October. S goes
in a month which has 31 days. Three persons go for Movies in between R and
S. P goes for a Movies immediately before T but not in a month which has 31
days. Only two persons go for Movies in between W and Q. T goes in a month
before S. Only one person goes in between U and V. W goes before S. U does
not go after Q.



Q26. Who among the following go for Movies in May?
(a) P

(b)S

(c)R

(d)T

(e) None of these

Q27. R goes for a Movies in which of the following month?
(a) August

(b) March

(c) June

(d) September

(e) None of these

Q28. How many persons go for Movies in between W and V?
(a) One

(b) Two

(c) Three

(d) Four

(e) None of the above

Q29. Four of the following are alike in a certain way so form a group, which
among the following does not belong to that group?

(@ v

(b) s

()R

(d)T

(e)Q

Q30. Who among the following go for Movie in June?
(a)P

(b)u

()W

(d)T

(e) None of these



AR T g hagel T AT dS & | K, M g 3R Fgl solg | X3k T
& FET ofieT A U AT 95 & | CHF AW TH fdepel AsiIh 95
forell e T 3R & | Z, Y& g @k T W a7 § | a8 Sraehr
A LS THA§ US IF § A TUF WSS & | AR qY SH
AT 81 M 3T A% #7eg e orer 38 &

Directions (6- 10) In each question of below are two/three statement
followed by two Conclusion | and |l

You have to take the two/three given statements to be true even if
they seem to be at variance from

commonly known facts and then decide which of the given conclusions
logically follows from the given

statements disregarding commonly known facts.



J for 9T s e H & / ATy e av § 59 91 o Ay
| 3R 11§l 3m9err few arw af /

deT YT T T ATAT &, Fol 87 T 3H d W AT a2t ¥ fF=ror
A & AR T ag w7 & fGu

AT H F A AT § FhyY IMAGR W T 30 Fyar § difhes &7 4
FATT dZAT T dgclell A &l

Give Answer
If only Conclusion | follows/ Ife Fae Ay | 3TEROT T g |
If only conclusion Il follows/ If¢ Fae Ay | 3eTEROT AT gl

If either conclusion | or Il follows/ g AT & fASHY | AT 11 ITEROT FT
gl

If neither conclusion | nor Il follows/ afg & ar @sey |31 7 & 1l

3TTEROT T ¢ |

If both Conclusions | and Il follow /af& geit feiseny | 3R 11 3TEOT Xt
gl

Q6. Statements/ HY:
No corner is a side/ 5 3 FIT fFaTRT FdT 8l
All Sides are ends/ @3 fFaR ®R &l



only few ends are middle/ sae S O 7L ¢ |
Conclusions / fasa:

|. Some ends are sides is a possibility / & SR fhaIRT § Teh FHTAT gl
1. All ends are corner is a possibility/ T BT FI § TH GHGAT gl

Sol. neither conclusion I nor Il follows/ & @t &Sy | 31X 7 & |l
3TEROT T & |

Q7. Statements: e

All mango is banana/ Y 318 el &l
No banana are kiwi / ®15 ael HIdr g gl
All kiwi is orange/ @Y Frar AR gl
Conclusions: oSy

. All banana are orange is a possibility. / T el AR § TH FHTGAT
gl

1. All kiwi are mango. / @3 Frdr 31T gl



Q8. Statements: YT

All question is answers/ THT T2 3¢ & |
All answers are replies. / @3 3caX A g
All replies are inquiries. / & STard Jods gl

Conclusions: oSy

|. All answers can be inquiries. /83T 3caX ISdS gl g&d g

l. No replies are questions./ ®I5 3caX 2T sTal &l

Sol.

Q9. Statements: AT

All bird are animal/ @3r galt S=1aY &l

only few animal are tree / %dd S STANR us &l
All tree are leaf/ Y U5 Ucdr &l

Conclusions: fasay

. some tree can be bird/ $& 93 g&f g1 Hevcl &l

Il. No leaf is animal/ @15 9cdTl STHAaT gl gl

Sol.



Q10. Statements/ YA

All cars are road/ T &N s+ gl

only few road are house / had $S TSH W gl

Some house are town/ S 8T AV gl

Conclusions/ sy
. All car are house/ T8ff &R =X g|

Il. No house is car/ g & &I gl &

Sol.

Directions (11-13): Study the following information carefully and
answer the questions given below:

& A SITRRY T eAAYdS AT HIfo 3R D QU o gt &
3cR Qfe:

Z is mother of R. R is the mother of W. W is the daughter of T. T is the
brother of J. J is the mother of X. X

is the daughter of Q. Q is the son of D.

ZRETATEI RWEHE ATEI W, TH ST &1 T, )T 915 &1 J, X & gl
X, Q&T S g1 Q, D &7 &eT gl



11. How Tis related to Z? T g aRg 2 ¥ Fafda g7

Son/ser

Daughter/ St
Son-in-law/ GTHTG
Sister/ Sg<T

None of these/ 378 & HIS gl
Ans:

T is the Son-in-law of Z.

T, Z %I GHAG &

12. How D is related to X? D fr® ot X @ @afaa &7
Daughter in Iaw/EIje;r

Son-in-law/ GTATE

Sister/ dg<T

Father in Iaw/lﬂfg

Can’t say / &g &gl Hehd

Ans:

Can’t say / &g a8l Thd



13. How Tis related to Q? T food aig Q ¥ TERAd &7
Brother in law/ §eX 3T ol

Son-in-law/ GTATE

Sister/ Sg<T

Father in Iaw/mj}'

Can’t say / g T8l Hehdl

Ans:
T is the brother in law of Q.
T, Q& seT SoT of gl

Directions (14-18): Read the following character sequence carefully and
then

answer the question given below it.

fFfaf@d 3ie-31aR-Tclieh 3elshd T A IETTA HlfolT 3R A
feu T gt

& 3caX SIord:

USADK1@M!85E415%QC&amp; N7&gt; WZ3F68




Q14. How many such numbers are there in the above sequence, each
of which is

immediately followed by a perfect square of a number?

3UF I6ThA A WA Tl T §, o & 9 & id aie fohdlr
TN &l Teh qoT

gt §?

None / 1S gl

One /T&

Two /&

Four /dX

None of these / SeTé7 & @IS =Tg

Sol.

There is only one combination in which number is immediately
followed by a

perfect square number.

haol Ueh HAS & S HH Th H&AT & d1¢, X Teh quT a9l {1 giell

gl

Q15. Which of the following element is 5th to the left of 7th element
from the

right?



fArfaf@a # @ i & dca g ¥ ¥4 ded & S @ grear g?
%
Q
5

M

None of these /38 & &I gl

Sol.

‘Q’ is 5 th to the left of 7th element from the right.
‘Q&#39; e ¥ I ded & a1 & IiIaTl g

Q16. If all the numbers are dropped in the given series, then which
element will

be at seventh position from left end?

gie & a5 H@er # g8l FE&Aw ger & S g, ] @l & dcd 91U o
q °rdd ¥UTeT

qT glam?

M



None of these /S8 & &I gl
Sol.

‘I’ element will be at seventh position from left end.
‘I ded 97 BR 8 Add ¥UTeT 9 g9 |

Q17. If the first fifteen elements in the above sequence are written in
reverse

order, then which of the following element will be 19th from the right
end?

Iie 3uYFd 3TshA H U Uge ded 3o hA H fo@ od § ar oot &
¥ il AT dea

grd B {1947 grem?

D

K

1

M

None of these / 398 & +IS gl
Sol.

‘1’ will be 19th from the right end.

‘1’ dcd ST X & 19 aT g



Q18. How many such symbols are there in the above sequence, each of
which is

immediately followed by a symbol and immediately preceded by a
number?

39 IThA H W el olieh g, [Siesl & 9cdsh & R a6 Ueh
gchieh & IR R

gl Ush TEAT 87

None / &Ig &gl

One / T&h

Two /&

Four /dR

None of these / 378 & &g el

Sol.

There is no such required symbols.

VAT IS 3T Il FAel o

Directions (19-23): Study the following information to answer

the given questions:

AT FIelr &1 CAYas eTTeT HITSAT qUr T T weat &




3cR dIfaT:

Eight persons A, B, C, D, E, F, G, H are going for a vacation on
either 5 th or 8 th of the following months i.e. February, April,
June, and October but not necessary in the same order. Only

one person goes on one date.

B goes on that month which have total 30 days but not on
prime numbered date. Two persons have gone between H and
E who has gone on prime numbered date. E has gone after C. H
has gone before C and on that month which has least number
of days in given month. No person has gone between C and F
and both of them have gone in same month. Minimum four
persons have gone after F. Minimum two persons have gone
between B and C. Two persons have gone between A and F. A
has not gone on that month which has highest number of days

in given month. G has gone just before D

1S Ffed A, B, C, D, E, F, G, H f[AFifafld Ag el ®iadl, 319,
ST, 3R 3rEceX T 5 AT 8 ARG F T & v o W § AT
& AGT 6 T & A H gl T T & dhdol Tk g igd



ST g

B3 &g & ST & fSad &er 30 oot & Afdvet 3rovsw weean
arer & A8 H 3R EsF = & safed 1w S 3rmsy d@ean
arel f&sT &1 AT E, C §1¢ a1 g1 CH Ugel HIr ot 39
Ag & Toras feat 1 g&ar gad & g1 dg o Safdd C3R F
& oI sTgl 331 § 3R Sl Ueh &1 Alg H 90 gl Fah 96 A
¥ ®H IR Ffad ST b &1 BHR Coh T A @ &A ar
gidd T AR Fah & & safedd 70| A3H AE H A1 a1
s feal fr dear ge8 31U g1 G, D& &% gl I

February ‘5 |A ‘
8 H

April 5 C
8 F

June 5 E

| 8 B

October |5 G
8 D

Q24. If inthe number'359728, 1 is added in each even number an 1
substracted in each odd number then how many numbers are revised?



than four and 1 is subtracted from each of the digit which is greater
than four

then how many digits are repeating in the number thus formed?

afe 359728 TEAT HA Th SIS ¢ AR fowdm gear & 1 geer § o
fohder 31 9T ST algRA SATAem

One / T&h
Two/ &

None/ &Ig &gl
Three/ds

Four/ T

Q25. How many pairs of letters are there in the word CHROME” which
have as many letters between them as in the English alphabetical

series? (in both forward and backward direction)

‘CHROME” ereg # fohcdel SiI3 & Toieteh dig 3l &1 316W & Toidel 318
373t goteTer S@er 7 €2 (3mT R 9D aat st #)

One T&

Two ar

Three diT



Five 9T

None of these 377 & &IS Tal

Q26. If it is possible to make a meaningful word, using the 2nd, 4th, 5th
and 8th letters of the word ‘ADORABLE’, then what is the last letter of
the word formed? If no such word be formed, mark the answer as ‘Y’. If

more than one word can be formed mark the answer as ‘X’.

‘ADORABLE’ 2lec & g&R, =¥, Ured 3R 3M6d 38T T 39T Y e

Th ATIH AsE TN T § al 39 YhR IS 2T ol e &R T

g ? IfS 50 YR FT FIg Usq 1@l Soldl &, dl 3cc & & H ‘Y
3ifohd

Y| If¢ T T 318 2qeg §F Tohd & dl 3cal &l X & &7 H Rfgada
H|

Y

Sol.



More than one word can be formed.

Ts ¥ 3 Ase 97 ohd g

Directions (27-31): Study the following information carefully and
answer the

guestion given below.

[AFfaTEd Sl eaeqde 3reade $Hifav AR A T arv geat &
3cR 9T

Eight personsi.e.P,Q, R, S, T, U, Vand W are sitting around a square
table in

which four persons are sitting at a corner and face outside and four
persons are

sitting at middle of the sides and face inside. No two continuous
alphabet persons

sit together.

Q sits 2 nd right of P. One person sits between S and U who sits
immediate right of

W. W sits 3 rd left of T who sits immediate right of Q. S does not sit at
corner.

3ms eafFd P,Q,R,S, T, U, VAR W T&h &R <ol & dIRM 3R oS &
Sad O sgfed




TS Fled W 95 § AR 9T & 3N 4@ W & 3R IR afed sfem & &g
} 95§ AR

3T AT IR W W E | P M o R quiATen ofFd v ary =gl
Sod &l

P& g 3R & g@ ¥ W QT gl SR U &I T afed dor §
ST W& 8 i

INFST G TH aF 3R T AT AT W W T § o QF S e
3T dor g1 S T

T fhaAR OX T8l ST gl
\) R W
T
1 v
¢
Q . {

Directions (32-35): Study the following information carefully and
answer the

guestion given below.

AT Sl eaeqdes e Hifaiv 3R & iGu v geat &
3ccR AIfST|



Certain numbers of persons are sitting in a row facing north. J sits 5 th
to the right

of B. Two persons sit between B and Z. D sits 4 th to the left of Z. Four
persons sit

between D and K. K does not sit immediate left of J. K does not sit left
of Z. S sits

6 th to the right of K. Four persons sit between G and S. G does not sit 2
nd right of Z.

T sits 4 th to the left of K.
U fAfRad T&ar A o AT U diFd # IccR AT 3R W F 95 §
B& g 3iIR &

qad T W JdoT gl B3R zF o gr g s &1 2z s 3 &
AT TUT W

DT &1 D3R K& §ig IR safed 86 g1 K, J & 8eh a1 3T 8T dar
gl Z& 9

R KAET dar ¥l K& S 3R T S8 T 9 ST &1 G3R S&F i
IR IfFd 96

el Z% o 3R ¥ qE TUT W G Al dar gl K& a1 31X 4 I
T T TS Bl
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